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=9000 N(1) 3

Deceleration because T< 9800 N [explanation needed] ¢.c.f. 1

S0 (1) constant(1) or equiv. e.g. 7 sinf, =msin8,]
né,

sin45°
=16
Ga2 O

1<n<16[ecf] (1) [aceept e.g. 12~ 15, not 13 - 1.6]
for TIR to occur [aceept: reflection] (1)

s
010 _ 5 3210%5(1)

larger information-camying capacity / bandwidth v
Lighter [~ easier/cheaper to install] v
less cross-talk / more secure v’

lower cost raw materials / production ¥’
resistant to corrosion
greater distance before boosting required ¥’
N.B. not “faster”
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5 T=69-3N [accept T0N] (1) 2

@) | T'sin30" = E; (1)[or by impl ]

Fy=34-6N(1) [e.cf.on T]

B

iv: tan30°
epeay 60 2

(i) | Amow added to diagram continuing the line of the string

downward to theright [lenience on line of action!]
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II 60N (unif))
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sin angle of incidence __
Sin angle of refraction

sin30

@

- 3[or by impl 1. 6,=19-5"() 2
sin 6,

) | sine %[mhyimpl 1Q1). ¢ = 41-8° (D [aceept 42°] 5
6,=64.5 (De.ct.

TIR. shown (1) Angle of reflection = 83 (1)
[e.c.£:if 63 < 42°, refracted (1) away from nomal (1)] 3

(i)

air: 500 (1)
crown glass: 20 x 10° (1) [accept comrect unit if given] 2
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